BERBRERFBRE=FIT

(SMTE9A248~108108EHE)

AEEHARFEF 11 EDHER

[RF N KBRS RAE (REHRID)
BEERXKENRXE RFHID
BIESS | ERRERAEE (1 Sv/h)
_— N-E
No. | Tk X% INEZT BE | soom | (hs-aBOFiE) e
m ! %10[
RERR FERER
50cm 0.09 0.09
780 HE™ #HERAR |FURE2E 9H827H
im 0.09 0.09
50cm 0.08 0.08
781 HEM HEANE |RrERAE 9A27RH
im 0.08 0.08
50cm 0.09 0.09
782 HEM #HEAR |RyELE 9A27H
im 0.09 0.09
50cm 0.07 0.07
783 HE™ HEAE |StEioE 9A/27H
m 0.07 0.08
50cm 0.06 0.06
784 HEM HEAE |NEBEAE 9HF27R
im 0.06 0.06
50cm 0.08 0.08
785 HE™ #HELAR |HFELE 9A27H
im 0.08 0.08
50cm 0.09 0.09
786 HEM HEAE |frrERAE 9HF27R
im 0.09 0.09
50cm 0.07 0.07
787 HE™ HRAR |MEBREERAER 98278
im 0.08 0.08
50cm 0.07 0.08
788 HEM HERAR MEEAALRE 9H827H
im 0.07 0.07
50cm 0.10 0.10
789 HEM HEAE |/ AXE 9A30R
im 0.09 0.10
50cm 0.09 0.10
790 HEM ERARE |ARAE 9A308
im 0.09 0.09
50cm 0.13 0.13
791 HE™ WErE |BEEAR 9A30H
im 0.13 0.13
50cm 0.10 0.10
792 EL WRAE |MROEKBEAEAE) | 9A30H
im 0.10 0.10
50cm 0.08 0.08
793 HE™ g | FRETRR 9A30H
im 0.08 0.08
50cm 0.09 0.10
794 HE™ EmfEi  |IR/ BTk 9A30H
im 0.09 0.10
50cm 0.09 0.08
795 | mAMEETM EgorE |REESLE 10A4A
im 0.08 0.08
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
. NEE
No. |  hETH K4 NEERH BE | soom | (hs-aBOFIE) EE
. 5@ %10M
FERFR RERR
50cm 0.08 0.08
796 | FMEEW #HEAR |8ReE 1084AR
1m 0.07 0.07
50cm 0.07 0.07
797 | FAMEEM #HELAR |FELR 1084AR
1m 0.07 0.07
50cm 0.08 0.07
798 | mAMEET HEAR |HHL2E 10A4H
1m 0.08 0.07
50cm 0.09 0.09
799 EmEEm HEAR |LowUarE 10A4H
1m 0.09 0.09
50cm 0.07 0.07
800 | FEHHET #HERAR |/MIcE 10A4H
1m 0.07 0.07
50cm 0.08 0.08
801 EmEEm HRAR |&2E2E 10A4H
1m 0.08 0.09
50cm 0.08 0.08
802 | FEHEET HEAR |FHERAR 10A7H
1m 0.08 0.08
50cm 0.07 0.07
803 EmEEm #HEAR |FHEPRAE 10A7H
1m 0.07 0.07
50cm 0.07 0.08
804 | TFEHHET #HELAR |SHAE 10878
1m 0.07 0.08
50cm 0.08 0.08
805 EmEEm HEAR |4FEALE 10A7H
1m 0.08 0.08
50cm 0.08 0.08
806 EmEET #HEAR |FHNRE2E 10A7H
1m 0.09 0.08
50cm 0.07 0.07
807 | FEHEET #HEAR |dETAE 10A78
1m 0.08 0.07
50cm 0.10 0.10
808 | FAEET #HERAR |ER2E 10A7H
1m 0.10 0.10
50cm 0.07 0.07
809 EmEET #HERAR |BERAE 10A8H
1m 0.07 0.08
50cm 0.10 0.09
810 | FEHHET #HERAR |ERE#FRAE 10A8H
1m 0.10 0.09
50cm 0.09 0.09
811 EmEEm #HRAR |EREHAEAR 10A8H
1m 0.09 0.09
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BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BIESS | ZHBRERAEE (1 Sv/h)
g NEE
No. | ThETH K4 INCETL BZ | soom | (h-amOFHE) =
fm 5@ %10
FERFR RERR
50cm 0.10 0.09
812 EmEEm #HRAR |EREHERAR 10A8H
1m 0.10 0.09
50cm 0.06 0.06
813 EmEET #HEAR |HoHrE 10A8H
1m 0.06 0.07
50cm 0.08 0.08
814 | FEHHET #HEAR |AE254E 10A8H
1m 0.07 0.08
50cm 0.10 0.10
815 EmEET #HEXAER |ETALR 10A8H
1m 0.10 0.10
50cm 0.09 0.09
816 EmEEm HEAR |RAcoBE 10A8H
1m 0.09 0.09
50cm 0.08 0.07
817 EmEEm #HRXLR |y /EIAE 10A7H
1m 0.07 0.07
50cm 0.06 0.07
818 | EMEE™ HEAR |HPHELE 10A7H
1m 0.06 0.07
50cm 0.07 0.07
819 EmEEm #HXAR [[B/RAE 10878
1m 0.07 0.07
50cm 0.17 0.18
820 | FAEET™ #HEAR BB 10A8H
1m 0.17 0.18
50cm 0.13 0.14
821 EmEET #HEAR |AE152E 10A8H
1m 0.12 0.14
50cm 0.30 0.32
822 | FEHHET EBRAR |AHAR 1088H
im 0.28 0.31
50cm 0.09 0.09
823 | FEHHET EBAR |ROFLE 1088H
1m 0.09 0.08
50cm 0.17 0.19
824 | TFEHHET SEBEAR [KENWILORBEAER | 10588
1m 0.16 0.18
50cm 0.09 0.07
825 | FEHEET EBARE RO OHAE 10878
1m 0.09 0.08
50cm 0.31 0.36
826 EmEEm EBEAR |FRIIKEKLAE 10A8H
1m 0.30 0.36
50cm 0.18 0.17
827 | TEHHET EBAR (FENITTYEKIAER | 1078
1m 0.17 0.17
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
- NE S
No. | ThETH K4 INCETL BZ | soom | (h-amOFHE) =
fm 5@ %10
HEHER REMER
50cm 0.09 0.10
828 | EAtEET EBRAR |[BRTFLUAE 10A7H
1m 0.09 0.09
50cm 0.09 0.09 .,
829 | FEHEET HRELER |dREBELRESLE 10878 hAIE RS
1m 0.09 0.09
50cm 0.16 0.16
830 | FEEHEET BHEAE |fHAHELE 10848
1m 0.16 0.16
50cm 0.09 .
831 EmEEm 2B e 4 5 4 BRI b 1084AR F10EIETEFICKYBIERT
1m 0.09
50cm 0.11 0.11
TS
1m 0.11 0.11
50cm 0.14 0.13
832 | FEHEET™ LEAR |RyrEoE 1084AR FEIZ L5
1m 0.14 0.13
50cm 0.13 0.13
HAZEL5
1m 0.13 0.13
50cm 0.12 0.12
833 EmEEm #HEAR |EHoE 10A4H
1m 0.12 0.12
50cm 0.19 0.18
834 = 8T #HELAR |KERRELE 1084AR
1m 0.19 0.18
50cm 0.18 0.16
835 = 8T #HELAR |FAAFRRBRELE 1084AR
1m 0.18 0.16
50cm 0.18 0.17
836 = 8T #HELAR |AARRELE 10848
1m 0.18 0.16
50cm 0.11 0.11
837 SRITHET A e EE 10878
1m 0.12 0.12
50cm 0.15 0.15
838 SRILET MWRAR |FESNHWLEES 10A78
1m 0.14 0.14
50cm 0.21 0.21
839 SRILET HWERE |BRAETSIUR 10878
1m 0.19 0.20
_. 50cm 0.15 0.15
iy ANHNE R HZE
840 | RSTAT EHNE |27 10878
TR maE im 015 0.15
50cm 0.11 0.10
841 SRITHT O |EEIEFETSUUR 10878
1m 0.10 0.10
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
s NE S
No. DilIES] X5 NEEZE FJ 8 50cm (PR-4FBDFYIE) e
m S0 %10@
FERFR REMER
50cm 0.25 0.25
mEsE
1m 0.25 0.25
842 SRITHT EgAE |MEEHLE 10A78 R
50cm 0.27 0.27
EEELE
1m 0.28 0.28
50cm 0.39 0.39 - T e
843 | RITHT oM |LCLOR EHE 10548 éfggf”sﬂﬁmmﬁ(% 0
1m 0.40 0.39
50cm 0.15 0.14
844 SRITHT HWELAR |dR2E 10A4H
1m 0.14 0.14
50cm 0.07 0.07
845 #rithET RELE |FHETRELE 9A30H HATEDIRS
1m 0.07 0.07
50cm 0.39 0.38
846 BREEHT zoM  |HLDIR 10A9H
1m 0.40 0.38
50cm 0.13 0.12
847 BREEHT 0l | KEFvYUT5 1089A
1m 0.13 0.12
50cm 0.23 0.23
848 BREEHT oM |IEPELE 10A9H
1m 0.24 0.24

¥ TE10RAERRILIFT. TRI0F10A4BM510A26 BICEELI-MESRBRRMSHRE=2)JRE @ HLAESFE10E) BT+ HATHR.
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